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Mis matched pair

1. Authoritative Parenting style — No autonomy to children

2. Authoritarian Parenting style — High control of children

3. Permissive Parenting style =~ — Accepts children opinions

4. Uninvolved parenting style = — low acceptance of
children
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2. “Maturation refers to the emergence of an organism's genetic
potential. It consists of a series of programmed changes”. This
was stated by

1.

2.
3,
4,

Gessel

Hurlock
Galton
Craig
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3. Wrongly written statement regarding principles of
development
1. Development can be predicted
2. Development goes from particular to general
3. Development is a continuous process
4. Development is not uniform in all stages
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Piaget didn’t use the following word in his Theory of

Cognitive Development

1. Schema

2. Assimilation

3 Accommodation

4. Scaffolding
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5. According to Ericson the psycho social conflict faced by
individual in the last stage

1.

2.
3.
4.

Integrity — Despair
Autonomy - Doubt

Trust — Mistrust
Generativity — Stagnation

DBEVR ($5°60 558 espthd IS AHEYI B Fowy 83

HOVN
®

1.

Ll

SPEGS - Jood

(OO (2BDG - BOBI0
:6;53&§o - @Zaé&io&§o
GIT\EES - ggé



The reason for the individual differences among children is

1. Heredity

2. Environment

3. Both Heredity and environment
4. Maturation, Intelligence
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‘Theory of multiple intelligence’ was proposed by

1. Spearman
2. Guilford
3. Gardner
4. Thorndike
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The persons with creativity, in general, possess the following
type of thinking

1. Convergent thinking

2. Divergent thinking

3. Concrete thinking

4. Non Directive thinking
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The following tests assess unconscious behavior

1. Inventories

2. Questionnaires

3. Check lists

4. Projective tests
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10.  “Prasanth neither wants to listen to his mother words nor wants
to be punished by her.” The conflict of Prasanth in this context

1. Approach - Approach

2. Avoidance — Avoidance

3. Approach — Avoidance

4. Double approach — Avoidance
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11.  First Psychological laboratory was established by
1. Wilhelm Wundt

2. Watson

3. Ebbinghaus

4. Galton
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12.

13.

One of the following is a Primary need
1.
2.

3,
4,

Exercise

Need for Security
Need for Identify
Need for Prestige
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‘Gestalt’ means

1. Perception
2. Insight
3. Part
4. Configuration
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14.  According to Bandura the mental processes that takes in
‘Learning through imitation’ are

1. Identification, Internalization
2. Withdrawal, rationalization
3. Compensation, Projection

4. Unconscious, Regression
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15. In the following type of memory, the student remembers the
concept through understanding

1. Immediate memory

2. Rote memory

3. Logical memory

4. Passive memory
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16. A person who can play softball well, wants to learn to play
cricket. Hence the transfer of training will be

1. Positive
2. Negative
3. Zero

4 Bilateral
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17. ZPD means

1. Zero Proximal Development

2. Zone of Proximal Development
3. Zone of Partial Development

4. Zone of Practical Dimension
ZPD o3
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18.

19.

In the book ‘Animal Intelligence; Experimental studies’ the
following learning theory was explained

1.

2.
3.
4.

Classical conditioning
Trial & Error

Operant

Gestalt
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Characterization, Receiving belongs to the following domain

1.

Sl o

Planning domain
Psychomotor domain
Cognitive domain

Affective domain
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20.

21.

The law of perceptual organization involved in recognizing the

symbol as English alphabet ‘V”’ is

1.

Ll

Law of closure

Figure ground relationship
Law of continuity

Law of closure
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The following is a ‘Social reinforcement’ given to the mentally
challenged persons

l. Money

2. Food

3. Smile

4. Rest
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22.  Project method is based on

1.

2.
3.
4.

Behaviourism

Pragmatism
Brunerism

Existentialism
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23.  Artificial observation is also called as

1.

2.
3.
4.

Participatory observation

Non participatory observation
Experimental observation

Introspection
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24.

25.

26.

The type of guidance required for knowing the course to be
chosen after completing 10" class is

1. Vocational

2. Family

3. Educational
4. Secondary
105 SEKS Soxes Q §Sd>(3 BETS’ BRSO SOV
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Full form of DIKSHA

DIKSHA 8 85750

1.

Ll

Digital Intelligent knowledge for school Head Masters
Delayed Intellectual knowledge sharing

Decentralized knowledge in Science Humanity and Arts

Digital infrastructure for knowledge sharing

Application software among the following
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1. M.S. Office

2. DOS

3. Windows

4 Linux



27.

28.

29.

1 Yotta byte is equal to
1 BooerBed BAE IS0

1. 1024 MB
2. 1024 GB
3. 1024 TB
4. 1024 ZB

As per RTE 2009 the number of teaching hours for 6" to 8"
classes in an academic year
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1 800

2 1000
3. 1200
4 1760

As per NEP 2020 the classes 1, 2 comes under

1. Foundational stage

2. Preparatory stage

3. Middle stage

4. Secondary stage

NEP 2020 (%5750 1,2 $5Keen B (o Sraw.

L DT80 IS o
2 26522)‘% %OJJ

3 8§ oo

4 SIESgR0E Jro



Participatory leadership is also known as

1. Authoritarian

2 Democratic

3. Uninvolved

4 Permissive
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61.

62.

63.

64.

ENGLISH
It is difficult to get there. I wish I a car.
Choose the option that fits the blank.
1. have
2. has
3. am
4 had
She here by tomorrow.

SET —7

Choose the option that fits the blank.

1.

2.
3.
4

Choose the grammatically correct sentence from the following.

1.

2.
3.
4

Choose an example of a poetic device commonly used in short

poem.
1.

2.
3.
4

will come
will have came
would have came

will have come

I have some work to doing.
I have some work to do.
I have a some work to do.

I have a some work to doing.

bullet points
rhyme scheme
foot notes

table of contents



65.

66.

67.

68.

69.

Choose the punctuation mark used to indicate possession or
contraction:

1.

2.
3.
4

Apostrophe ()
Colon ()
Exclamation mark (!)

Question mark (?)

Choose the correct sequence of the words in which they appear
in the dictionary.

A) Special B) Speech  C) Specify D) Spectator
1. C A B D
2. B A C D
3. A B C D
4 A C D B

Select the linker that shows comparison:

1.

2.
3.
4

eventually
thus
hence

correspondingly

Select the compound sentence from the following

1.

2.
3.
4

The students studied hard because they had an exam.
She cooked the dinner while she set the table.
After the game, we went out for pizza.

He enjoys reading books and she likes watching
movies.

Select the superlative form of the adverb ‘quickly’

1.

2.
3.
4

quicker
quick
quickerly
most quickly



70.

71.

72.

73.

“We enjoyed ourselves at the party.”

Identify the type of pronoun of the underlined word in the
sentence above.

1. Personal pronoun

2 Possessive pronoun

3. Reflexive pronoun

4 Demonstrative pronoun

Choose the phrasal verb that means ‘to quit or surrender, often
after a struggle or effort’.

1. give up
2 take up
3. get over
4

run out

Choose the sentence type that gives instructions or requests.

1. Declarative sentence
2 Exclamatory sentence
3. Interrogative sentence
4 Imperative sentence

He said to me, “How long will you stay here?”
Choose the indirect speech for the sentence above.
1. He asked me how long I would stay here.

2 He asked me how long I would stay there.
3. He asked me how long would I stay here.

4 He told me how long he would stay there.



Diabetes very common among people who consume too
much fast food.

Choose the correct verb that fits the blank.

1. have
2 were
3. are
4 is

An expression used to convey praise.

Choose one word substitute for the expression above.
1. compliment

2 cliché
3. euphoria
4

rebuke

Choose the correctly spelt word.
1. Comonality

2 Commonelity

3. Commonality
4

Comonelitee

“We are aware, always, of the pain and horrors of war.”

Choose the synonym of the word ‘aware’

1. ignorant

2 informed

3. uninformed
4 unconscious



78.

79.

80.

8l1.

He lived alone, was not a mixer, had few friends and didn’t
like spending time in idle chat.

Choose the antonym of the word ‘like’

1. dislike
2 enjoy
3. love

4 pefer

The following is not a technique of reading.

1. Skimming

2 Scanning

3. Intensive reading
4 Extrapolating

The vocabulary we use to communicate through spoken form
or written form is:

1. active vocabulary

2 receptive vocabulary
3. dead vocabulary
4

passive vocabulary

Planning the blackboard work in a systematic way comes
under

1. post teaching stage
2 pre teaching stage
3. while teaching stage
4

evaluation



82.

83.

&4.

A textbook should  the teacher’s instruction.
Choose the option that fits the blank.

1. overcome

2 speculate
3. dominate
4

supplement

Read the following passage.

The city streets bustled with life, as cars honked their horns
and pedestrians hurried along the sidewalks. Neon signs
illuminated the night sky, casting a colorful glow on the
throngs of people below. Amidst the hustle and bustle, street
performers entertained crowds with music and acrobatics,
adding to the vibrant energy of the urban landscape.

Select the correct statement based on the passage:

1. The city streets were deserted and quiet.

2. Cars moved smoothly along the streets without any
honking.

3. Neon signs were turned off, leaving the streets in
darkness.

4. Street performers added pleasure to the urban scene.

Read the following passage.

The city streets bustled with life, as cars honked their horns
and pedestrians hurried along the sidewalks. Neon signs
illuminated the night sky, casting a colorful glow on the
throngs of people below. Amidst the hustle and bustle, street
performers entertained crowds with music and acrobatics,
adding to the vibrant energy of the urban landscape.

Choose the correct statement based on the passage:
1. Pedestrians were walking leisurely along the streets.
2. The city streets were dimly lit by traditional gas lamps.

3. Street performers captivated audiences with their silent
performances.

4. The urban landscape was full of life or
activity.



85.

86.

87.

88.

89.

One of the following makes the class lively and learners
practice language element lively and interestingly.

1. Paper — pencil test

2 Use of audio — visual aids
3. Use of a calculator
4

Correct pronunciation

Sentence structures can be practised by

1. substitution tables

2 essay type questions

3. multiple choice questions
4 one word answers

The tiger strategically attacks
Choose the option that fits the blank.
1. from under in

2 from behind

3. at around off
4

as against off

Select the sentence that contains a subordinating clause.

1. I will go to the beach along with him.

2 The dog barked loudly all night.

3. After we finish dinner, we can go for a walk.
4 She danced gracefully across the stage.

Choose the sentence in which ‘may’ is expressing possibility.

1. May I borrow your pen?
2 It may snow tomorrow.
3. You may leave the room.
4 May I ask a question?



90. Choose the correct statement regarding the definite article

‘the’
1.

‘The’ is used before a singular noun that indicates
somebody’s profession

‘The’ is used to introduce nouns for the first time

‘The’ is used to refer to specific nouns already known
to the listener.

‘The’ is not used before nouns.



91.

92.

SET -10
MATHEMATICS

5 students of a class collected 110 each for the Prime
Minister Relief Fund. The money they collected together is

PESH0® DFFANIOE BB IS 2.5 5 ITg8 110 TIPS
5 1o dergdien Eag) FrHOBFED. Tt DSOS Ingo

S0y

1 % 660
2. % 555
3. % 650
4 % 550

One billion is equal to
1. 100 Million

2. 1000 Million
3. 10 Million
4. 10000 Million

2.8 DOAHI IS

1. 100 OS>
2. 1000 dcHIe
3. 10 OaHIew

4 10000 OSSE0



93.

94.

95.

One of the two digit number is three times of the other digit. If
you interchange the digits of this two digit number and add the
resulting number to the original number, you get 88. Then the
original number is

2.5 BOKOZ® 2608;:563’83 2.8 ©08 $8° ©OSDH M Tew. B
BOKOZ® ‘:6021)56’5-83 908D BESTE DA ;523‘) 05,
&5 DoPEEH SODB 88 Si08. Wond es Doy

1 26

2 42

3. 56

4 72

Solution of 15(y —4)—2(y—9)+5(y+6)=0
15(y—4)-2(y-9)+5(y+6)=0 3 JFHoSm

L3
2
2 2
3. 2
3
4, 3
The Cube root of 110592

110592 o3oo§z)_ WS SO0

1. 28
2. 48
3. 58
4. 76



In a farm house there are 200 Buffaloes and 250 cows. The
ratio of buffaloes and cows is

2.8 HHHO FES® 200 RBen $H83%H 250 esHew &0
29008 RRL0 HOIH 3o )

1 1:4
2. 3:4
3. 4:5
4 5:4

7.
Convert 3 into percent

U Q 80N ;55°6st
8
1. 87 %
2. 8739
4
1
3. 87— %
4
1
4. 87— %
2

The cost of a frock in a shop was I 750. The sales tax charged
was 10%, Then the bill amount is

2.8 (o57e08” 28 A0 98 T750. P 10% o089
DY) ABONS DYoTFIS Dy

1 X775
2. % 800
3. T 825
4 % 850



99.

100.

101.

The population of a city decreased from 25,000 to 24,500.
Then the percentage decreased is

2.8 SKE 2337 25,000 008 24,500% eﬁﬁo&. 90208
95?1/3\656 F¢50

1 1 %
2. 2%
3. 3%
4 4 %

The value of 16 7
5 5

19_7 558, 2ewss
575

1.
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The marks (out of 100) obtained by a group of students in
Science test are 75, 81, 95, 56, 48, 39, 85, 90, 76 and 85. The
mean marks obtained by the group

GO Y00 PR) HEES” FHoAS Sty e (1008)
75, 81, 95, 56, 48, 39, 85, 90, 76 5505 85. &3 2)0850
FOBS BKeN [rLdy e

1 72
2. 74
3. 73
4 75



102. 2 lengths + 2 breadths =
1. Perimeter of Rectangle
2. Perimeter of Triangle
3. Area of Rectangle

4. Area of Square
2 P& + 2 SEeyen =

L BEISIE HepSos
2. (@bmo SoeySods

3. QYBSLE Teg0
4

BEOR0 JT0g0

103. A polygon with 5 sides is called
1. Triangle
2. Hexagon
3. Quadrilateral
4. Pentagon
5 hero Doy Mo 2Tvgbe @) D

1. (@20

2. Zacfo?)zi*

3. iSeﬁod;z)zzo
4. PRI INFACEN

104.  Which of the following is not a 3D shape

1. Cone Ice cream

2. Dice

3. Paper

4. Log

808 738° 3D (IBWAH) es5°50 7
1. §°8 o5%0

2. F0E

3. 3°As0o

4 BEY 0



105.

106.

107.

108.

The pair of angles which are complementary Angles
2308 Serod’® Jroy ere e

l. 48°, 50°
2. 35°, 55°
3. 70°, 40°
4. 75°, 25°

The formula of volume of a Cube
PSINDICINTe) B, S HBSCe0 By, Qoe|gso

1. a

2. a’
3. a’
4, a’

The product of (a* )x(2a** )x(4a*®)

(az)x(2a22)x(4a26)e>zcgo

1. 4a’
2 8a*
3. 2a°
4 8a>

The value of 5pg(p° —¢°)+2p(p +q)

5pq(p* —q*)+2p(p+q) oS

L. %(p—q)p
2. %q(p—q)
3. %q(p—q)
4 2q(p-9)

2



109. Express 3x107in useful form
3x107° yerdes E@H0S° Bowod.
0.0005
0.0003

1
2
3. 0.00003
4 0.00005

110. In the equation 2x? + x—a =5, if x = 0, then the value of ‘a’

2x +x—a=5 & x=0e003 ‘@ IS

1. -5
2. +5
3. 2
4. 1

111. Convert 100 liters into milliliters

100 é)eogaso Z)o@ @@ges*’é SRS

1 1000

2. 10,000

3. 1,00,000
4 10,00,000

112. This is not a leap year
(3p0) ROSEBo S

1 1988
2. 1992
3. 1994
4 1996



113.  The height of a Cuboid whose volume is 625cm’and base area
is 25c¢m’ (in cm)

WSHONTE0 625 0.0, 508 4 PFOL0 25 0.2,
SOAS BY 050 I (0., ©F")

l. 11
2. 35
3. 25
4. 625

114. The area of the circle whose diameter is 28 cm (in cm?)
28 0.0, FFHI0 KO SBI0 @), JFegEw

(5. 20.20. &%)
L. 616

2 900

3. 500

4 1000



METHODOLOGY

115. The relation between different branches of Mathematics or
between different topics within the same branch is

1. Internal correlation
2. External correlation
3. Evaluation

4. Accuracy

K350 IS e Soe5g B 2.8 TS5t 98 wore
S5JC§§KQJ Do23080

1. Slehilel VIvpN et Alelale
2. 37°27°§ JT°H020630

3. Nlale))

4. a:é’)geﬁéoso

116. What kind of value does it convey if it is limited to developing
skills related to mathematics, such as numbers, operations on
numbers, measurements, decimals and percentages etc...

1. Higher value

2. Narrow value
3. Professional value
4. Sociological values

KEdPA8 0020Q00S @OFPS Dopgen, Dogry (HEaen,
Soden, $T0Tw, FEw INEON DO
POFOROBEIY Sr|BR HOWSFB ©d ) I5°A8 TodS
DOV BLVYD.

1L &S Je0I

2. HOHDS IS
3. 5)BO5RS dews
4. 3OS oo



117.

118.

Learning is easier if similar concepts or topics are embedded
in learning process. Which of the following method is referred
to here

1. Law of continuity

2. Principle of Association
3. Insight learning

4. Method of Analogy

DTS Ko 2SS0 B ©oTOH IS (HEHS’
3W&Y Seond @2IFOS BOJT wthKE08. 38 ($08
QTS50 WIPDOTO™

1. @3)%@6 QONO

2. QOVY AaIo
3. 00865y @500
4. FEFIg AAHI0

The work done in the field of collecting information, entering
it in tables, analyzing information, expressing opinions etc., by
a student comes under

l. Feedback

2. Suggestions

3. Opinions

4. Project work

g0 FBToNS Do) DEBOSEO, HEES” SIreH
BADEO, BITToeR) JFA0BEO0, VDT ATOR SEESSE0
50639 B2 ($08 :AS° B ¥020H0DIH

1. RIS IY

2. ISISMAOV

3.  edrdiren
4. @‘%g D



119. The word ‘Curriculum’ is derived from this language.

120.

1. Greek

2. English

3. Sanskrit

4. Latin

58%g0% (Curriculum) &3 H5e50 Q PR H020L0DIE
1§

2. 304

3. éoézygeﬁo

4. S

The assessment that is not related to the ongoing learning

process
1. Unit test
2. Summative Assessment
3. Formative Assessment
4. Slip test
(BR080 BEMHEHY) FETHFOS PIEoHOS® 02050 B
;5a5°e7°50§:60
1. O3S 8
2. QOIS S 200
3. 3@&85"95&§ HA0Y
4. DDED

™ [h]



121.

122.

SET -10
EVS

The transformation of the larvae into an adult through drastic

changes is

1. Fertilization

2. Budding

3. Cloning

4. Metamorphosis

Kead Ao Srth)o GRoe 0SS0 (TR Srdd) Boeseso

1.

WD

Yodsse
Boog\i SEREO
§A0R

BT EA00

Choose the correct option that describes an Ecosystem

1.

2.
3.
4

Living organisms in an area
Non living factors in an area
Relation between the living things in an area for food

All the living and non-living components interacting in
an area.

535083 FFIP ISO0B HBS J0DESL AINE 0

1.

Ll

2.8 (FosoS° vEIHew
28 (PosoS’ IFS s
2.8 (FrosoS’ Ao Sotsg es33850 §°00 ¥020850

28 |Foso o) 85, IS sUsen,
T DO S50



123.

124.

Poor conductor of electricity is
1. Distilled water

2. Tap water

3. Well water

4, Sea water

38 3365355 9335 B0

1. '5003655 230

2. 000 DB

3. 2P A

4. JBI0EH S

Convex mirrors are often used in

1. Periscope
2. Microscope
3. Side view mirror

4. Torch light
DTN D08 SEETR) IVE” IIBPATD

1. DO D

2. gy SO

3. & Iy 1S
4. &8s



125.

126.

A nano second is

1. One millionth of a second
2. One billionth of a second
3. One million seconds

4. One billion seconds

2.8 S DED oS

1. 25508 wOHET S0k
2558 DOHS Soes
2.8 OSHS DE%

L

2.& DN ER

Percentage of water in activated sludge is approximately
8058 S0HKS" &od A B0 TTEY

l. 79%
2 97%
3. 67%
4 69%



127. An organ in human body that contains cartilage

1 ear lob
2. tongue
3. teeth
4 heart

S5S $8808° DYDY S0% 93535350

1. BAEI0Y
2 JP0E

3 zm%)

4 SleTw

128. The process in which water comes out of leaves in the form of
vapour

1. Photosynthesis

2. Respiration
3. Transpiration
4. Assimilation

N I8 ErH0S° eHe $08& DAHOH I (PG
1. §6€3&5§“60035°?§k§053

2. FHREad
3. wifo)@géo
4. $°of\t3§6sao



129. The length of a curved line can be measured by using

l. stone
2. paper
3. wood
4. thread

30 &ITrROTEO YO J(ETP FEIDH FOISY).

1. oplobV)
2. S°A80
3. DE),
4. (wlele)

130. Example for floating plant in water
1. Duck weed
2. Hydrilla
3. Tape grass

4. Mangrove trees

N BOATE I GO
1. &8d&

2. e

3. BJR

4, NVlerd BE



131.

132.

The common means of transport in polar regions

1. Sledges
2. Putties
3. Camels
4. Donkeys
B rocred® Ferde Ser FEI0
1L &ew
™me
2. ‘;g)ééen
3. 2,083e0
4. 3o

Number of employees appointed in Grama Sachivaalam to
provide service to village people

0 ($20 DI D (P 9T 005resS’ IBTA0DS
éé’%m@ dogpg

1. 9

2. 10
3. 11
4. 13



SET -10
SOCIAL STUDIES

133. Jharia, Raniganj mines are famous for

l. [ron

2. Gold

3. Coal

4. Manganese

BB, TEdKOB Koo 8IS (9DY

1. o305
2. 22080
3. 5K

N
4, NVLCTATIeN

134. Identify the mismatched pair

1. Gauthamiputra Satakarni - Satavahana
2. Narasimha Varma-I - Pallava

3. Pulakesi-II - Chalukya
4. Samudra Gupta - Maurya

DB B0 K800s

1. TSDYS 88 - FB TS
2 Nletsleder ;56&-1 - RIS

3. DHeE3-11 - TeFEeD

4 DS ESHIYE - SFtgen



135. This is not a function of the police

1. Investigation of a complaint

2. Registration of an FIR

3. Filing a charge sheet in the court

4. To decide whether a person is guilty or innocent
DO Y 58

L oo 985000

2. FIR & S35 SAH&o

3. E5HS ol orpes oo

4 2.5 580 &% 8% 3623& 9 JTBOSEO

136. Local self Governments were famous during the period of

1. Cholas
2. Mauryas
3. Guptas
4. Pallavas

28 008" FIE AHOFOT (HEHSH (FVG oo

1. S0
2 ;53"635@3
3 WOISH
4 PRI IOV



137. The minimum percentage of forest cover in plain areas
according to National Forest Policy, 1952

2rBA%H @ed IS0, 1952 (¥5e50 PorS (Frogre s’
GOBSODI EID e TS0

138.

1.

L

20%
33%
43%
53%

He is called as “Gandhi of South Africa”

1.

2
3.
4

Khan Abdul Gaffar Khan

Wangari Maathai
Nelson Mandela
Jacob Dudu

BETRS MO 0 3E) DR

1.

2
3.
4

TR @&357{@“’5 PO
SO0K8 oGO

SN ot

238 e



139. ‘Indian National Congress’ was founded in this year
WES A SORR’ $ FHODT HOSS o

1.

2
3.
4

1865
1855
1875
1885

140. This city is called as ‘Manchester of India’

1.

Cal o

Nagapore
Patiyala

Sri Nagar
Ahmedabad

Be SKoQ) ‘SroBHS T oG T DT

1.

~owoN

SR8
FeE3As e
8,558

O° &C?zr&_



141. The dance form derived from the themes exclusively from
Bhagavatam was

1. Yakshaganam

2. Kuchipudi

3. Bharata Natyam

4. Kathakali

BRSSO $00d (HBgEor &E)I0DS 3BHTOS’

Zg)@?é 50

1. TDEA°SO
2. SIS
3. 2;56e§5°éo§o
4. ol

142. “Tripitakas” are the holy books of

1. Jainism
2. Sikhism
3. Buddhism
4. Judaism

BT I Ba S0 DS Komren

1. BI0B0

2. ?O§JZ,_SSJQ§O

3. EANINGTI Yo}
[on]

4, 2P P00



143. The total number of High courts present in India is

144,

(BR980 2r8STHS Ko FE e vovs

1.

L

21
23
24
25

The first visually challenged IAS officer in India is

1.

2.
3,
4,

Seema Rao
Nandini Harinath
Pranjal Patil
Archana Soreng

TESTEY Jog IS SS90 &) TAS ©fs-0e3

1.
2.
3.

DITTS
508 IS
oz FeS
@) FoR



145.

146.

The assessment method that is best suited for measuring
critical, logical and application skills in Science

1.

N

3,
4,

Multiple choice questions
Essay questions
Fill in the blanks

‘Yes’ or ‘No’ questions

ZS PZOS' IHETEE, TO) S 000 @IYS
FVeTgORH Fosedd egsom DOV SoeRgoES DB

1.

L

TP (B
THOETD (PR

PPROD WHPBOIEO
‘WP’ B 'S’ (DY

Project method is designed by

1.
2.
3.
4.

J. A. Stevenson
B.O Smith
Edmand
Aristotle

(PEO)S DEB ETTOROVITD
@

1.

BN

A IIDY
B.O.?o&eg
Qaf&og

St IaLE



147.

148.

The specification “Pupil will be able to explain concepts,
theories, facts” comes under this objective

1. Values

2. Application

3. Understanding

4. Knowledge

VIO WSSO, DTOSTOD, DSOS IO &

D)STE B OGS TobI.

1. RSOGOV
2. (EINCINe PN
3. (ONTIO LN
4. zs;éo
SOCIAL METHODOLOGY

Identifying countries in world map comes under this
Academic standard

1. Conceptual Understanding

2. Mapping Skills

3 Response and questioning on contemporary issues
4. Information Skill

($905:508° BFoso K00H00 B T (H57e0
(§ocs8 $53308

L DRSS
2. He FYeago
3. 255OS 007eD ($B)0SE0 $0005 (RB)0LS

4, PSINbin o] Q‘Jg)eaago



149. This method is mostly used in Upanishads
1. Lecture Method

2. Discussion Method
3. Problem solving Method
4. Project Method

ERRBKOE’ Be DB I S EHBrROBWED
L &dog0 D88
(ov]

2 7:50:) ZJCQS@
3 635333 Za@i{"zrci ZJCQS@
4 @"5% :agé:a

150. “A project is a whole hearted purposeful activity proceeding in
a social environment” is defined by

1. Kill Patrick

2. Billard
3. Bining & Bining
4. Benjamin
“FoR0s DBV NSO YEIEONE, SR SO
FITR 2.8 SEEoD (B 0 AKDoDSTH
L. &S >rBF
Derd
[qpev
BAoR & BIoA

Ll

BozS



